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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill_that circle in front of that question number. Use marker or pen to fil the circles. Cutting or filling two

OF More ~i=rle~ roifl smmnlt i =ars =grk in that question.
4. 1. A set Q={E‘|asb EZAb*O} is called a set of _4_ruf ..*..u-Q={ fa beZAb ==0} -1 -1
natural numbers sl Q5 (B) whole numbers sl L,l; (A)
rational numbers el Fb (D) irrational numbers el &t Z  (C)
/" 2. The number of elements in power set {1,2,3} is : . Qs IS £ o sy L {L2,3} -2
9 (D) 8 ©) 6 (B) 4 A)

3. The extent of variation between two extreme observations of a data - 3£/ 3/ £ = J1 § s ¢ -3
set is measured by
dispersion I (D) quartiles .= Az (C) range =* (B) average kol (A)

3 =
4. 7 radian= =i T oLa
30° (D) 150° (©) 135° (B) 115° (A)

Locus of a point in a plane equidistant froma . -q.ﬂkf ungdsl sie B 7 Lr K 48 v Ly~

fixed point is called

diameter 5 (D) circumference L (C) circle +76 (B) radius (v (A)

6. cosec’@—cot’@= cosec’ @—cot’ 6= _g
tan & () 0 ©) 1 (B) -1 A)

7. A tanget line intersects the circle at - 0¥ s L _7

no point at all u:'r’u"{.k‘ﬁ;f"(n) single point L _Q (C)two points ¢ L& 5 (B) three points {Lti? ;f (A)

8. The length of a chord and the radial -8» .t S/ U S 2 U4l UEWS U it O Fe s £ .8

segment of a circle are congruent. The central angle made by the chord will be

75 (D) 60° (©) 45 (B) 30° (A)
9. The measure of the external angle of a regular hexagon is ..q_.Jn JIJ;‘J &l Gw Z.u:o.-‘ ...l_ff -9
T T ) z b 3

= (D) s (© Py (B) 3 (A)

10. Standard form of quadratic equation is - P Uk S 2o G s 10
ax’=0,a#0 (p) ax*=bx, a0 ©) a@’+bx+c=0,a#0 @bx+c=0,b=0 (A)

41. Product of cube roots of unity is e S Kl Ll (61 44
3 (D) -1 © 1 (B) 0 (A)

12. f b* —d4ac <0 , then the roots of RS Lax* +bx+c=0 =hi-J nb—dac<0 Ji -12

a’+bx+c=0 are .
equal Gt~ (D) imaginary (% # (C) rational ¢ (B) Irrational PtZ (A)

1 1
13. }’z“?then ?.Vz‘x';;—f: -13
1 k
Vi=k (o y=x* (¢ = - ® ¥ == A)
a c¢ B a c¢
14. ¢ ‘S‘=‘E,then componendo property is ..q..-.g’.,./}‘?n 3’="}" /.- -14
a=b _c-d ﬁ a ¢ a ¢
b {8 bc © a-b c-d ®) a+b c+d A)

15. A fraction in which the degree of the numerator -q.JusﬂmuL ki can LU F a0 ¥ 2508 2SS 18
is greater or equal to the degree of denominator is called a / an
identity A (D) equation =i~ (C) improper fraction /...->b (B) proper fraction / 3l (A)
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Note :- Section | is compulsory. Attempt any three questions from Section IT but question number 8 is compulsory,

Section | )il
2. Write short answers to any Six parts : (6x2=12) g fe g eSS -2
i. Define quadratic equation. Ry S elibe G 9 i
i. Solve by factorization x2=x-20=0 SO ik i
iii. Discuss the nature of the roots of the quadratic - _,5:—*14(0! JJLL X} +3x+5=0 =his Gu s i
equaton x> +3x+5=0
iv. Evaluate (-o+a*)° g od Sl-o+a®)® _
V. Flnd'c%‘*'% of the roots of _irﬁ'd;(;]{*'"};’"z‘ Junw £ ¥ —4x+3=0..8,a i 2y
equation x?—4x+3=0.
vi. Prove that the sum of all the cube roots of unity is zero. -Gt o 256 D e 4% Zd¢ szl i
vii. Define direct variation. S e F i
viil. Find a mean proportional to 16 and 49. . -g-fp‘"‘ .,.«wu Loy § 49 4l 16 _viii
ix. Find * if 6:x::3:5 g Xy a 6:x1:3:5 Jilix
3 Write short answers to any Six parts : (8x2=12) &Juw/#ﬁvl?wc.xif <3
i. Resolve into partial fractions ix ::
i X={L4.7,9} ang Y= {2,4,5.9} then I Y= {2.4,5.9} o X= {1.4 7, 9} ; N
find YW X S YUX
il if 2a+5,3)=(7 ,56—4) thenfind @ and b &b yay n(a+5,3)=(,b-4) A _iii
iv. 1f ¥ ={=2,1,2} then find two binary relation for Y x¥ ¢ wins §¢ 0 & YxY in ¥ ={-2,1,2} S _w
v. Define one - one function. oy SN vi-s v
vi. The salaries of five teachers are as follows . Find mean. B2 L Y, 13 $ 3 O ¥ Sz él‘ -vi
11500, 12400,15000,14500,14800 .
vii. Find the modal size (mode) of shoe for the e vecsul SIS gl 76 Serlz § Uiz s o vl
given data 4.4,5.6.ﬁ,6.7.7.5,3.8.3,6.5,6.7.5
vill. Define Harmonic mean. ZE w8 b T A il
ix. Define Mode. 2w/ S ok six
4 Write short answers to any six parts : (6x2=12) -zﬁm;mﬂé‘.plzqa.df -4
l. Find & when a !=4.5m1, r=2.5m 5 g 2 Jo .
. Pm\.m Lo 1-cos@ i l14+cos@ TR0 St i
iil. Define acute angle. : "L{""'J/’ d;.,u gt
iv. Define sector of a circle. -éﬁ.@’} g /"-6 ¥ el _iv
v. Define tangent to a circle. S uvE o
vi. Differentiate between a chord and the diameter of a circle. fe- O/ P 35 Laits L i
vil. Define circum angle. -:—.’"-:....y} J,-:U A vii
viii. Define vertices. ,_’q'.’-: ....Q/J J J =viil
ix. Define Triangle. _2’,5.2/7 S et eix
(Turn over)
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Section - Il .o

(A ®)#T Ldvr) -8 9 AU saynl cimbe§S o)

Note: Attempt any three questions. Each question carries Eight (8) marks but question number 9 is compuisory,

5.(a) Solve by using quadratic formula,
x*—49x® +36x+252=0

(b) Solve the given equation by using synthetic division having roots -2 and 6

1 ...!l‘:d'g.db‘-'i L Vv G 23 (a)-5
- 6 ul - 2 u’t'u cf.u‘l /d’:fr_..g) &(Jr l.f{/ f._,hl/d{b (b)

x*~49x? +36x+252=0

Jxt +24++[x2 -2

6.(a) Solve by using theorem
of componendo - devidendo

(b) Resolve into partial fractions
U ={1,2,3,4,..,10}
4={1,3,5,7,9}

7.(a) If
ki B ={1,4,7,10}

then verify that (AN B) = A4"U B’

(b) The length of 32 items are given below

Vri +2 =3 —?

=2 -GSl S o S, LG e (a6

7x-—25
(x=4)(x-3)
U=1{1,2,3,4,..,10}
A={1,3,5,7,9}
B={1,4,7,10}

_EW L Gz (D)

fZ’;—:«-.«.‘.‘; JAJ Bul A, Uyusr é s (a)-7

(ANB)Y=A"UB’

P i G 6 1 e J Sz UF ()

f Length | 20-22 | 23 -25 26 - 28 ] 29-31 32-34
Frequency [ 3 | 6 12 9 2

Find the meah length of the distribution.

=2

(a) If €OSE= T 73 and terminal .z Wi g’ 3y Bt d.e 1 YW ¥

-2
e =9l sl cosf = #3_ S (a)-8

arm of the angle g is in quadrant I/ , find the values of remaining trignometric functions.
(b) Draw two perpendicular tangents to a circle of radius 3cm _.g S S L i Lot Lﬂu 3 (b)
Prove that : Perpendicular from the centre of a circle on ..4.r/..i;"~' J;_ﬂ « 2F £ /';(f'; f/ L e s EZE' =k -9
a chord bisects it.
OR [
ettt agsli L S S GNLNG 2313 $Fp Wy Senfpt T S s 5 Zak

Prove that: the measure of a central angle of a minor arc of a circle, is double that of the angle subtended

by the corresponding major arc.
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..Z}E'Jja.ﬁLJCLﬁ}fJSWQWL.,JzGr/J;.uﬁu:ﬁ.-ﬂ:{..;.“_!.—ﬁyfrﬁ &b’ Iz ?JJZ{_) #,C B, AL JJ&LLJ[)’,{ s
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Note:- You have four choices for each objective type question as A, B, C.and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two
or more circles will result in zero mark in that question. _

1.1 Therangeof R = {(L 3),(2,2),G3, 1),(4.4)} is -« » Range R7 »n R= {(1,3), (2,2),(3,1),(4, 4)} A w] 4

{1.2,3,4} ) L34} (g {324} (g {1,2,4} (A)
2. Mean is affected by change in ~ab i) e L/J_’é’ bl QL: -2
place £ (D) origin s\ /& (C) rato <=’ (B) value =i A
3 Loosecds = 2 cosecds’ = =3
V3 1 1
= > © F © V2 ® 375 ()

& 1 1 1 1 2
. = <+ _ -
l1+singd 1-siné l1+sin@ 1-—sind

cosd (D)  sec’@ (C) 2cos’@ (8) 2sec’d (A)
5. The symbol used for a triangle is _q.andla?fi ek etk 5
@ (©) 4: © . (8) < (A)
6.  Two tangents drawn to a circle from a point cSn e LU gv £ gf pe B 3is & ikl g
outside it are of in length.
tripple o (D) double % (C) equal 2z (B) half i (A)

7. A pair of chords of a circle subtending two congruent ..ﬁ.n u'-'d" ) :u_?:i..a.u;}'; IR L tlJ d)} JL?‘ s =T
central angles is
parallel ($ji# (D) over lapping ....flf (C) incongruent J‘L'r"/gf (B) congruent J‘L?‘ (A)

8. Alineintersecting a circle is called _q_r!kf ks r/d“ e -8
secant &G & (D) diameter & (C) chord 2 (B) tangent L (A)

9 The quadratic formula.is ~g- U G L9

~b+/b? +4ac b+ b? +4ac ~b+Jb? —dac b+/b* —4ac
= — X = ————— X = ————————— =

2a © 2a ©) 2a (B) 2a A)

10. Sum of the cube roots of unity is 4 Fsl 2p L1 =10
3 (o)) -1 (C) 1 (B) 0 (A)

11. if @, B are the roots of 3x* +5x—2=0 ..4.4&:“‘*'5 Fun il 3 +5x-2=0ch Bia i _11

then ¢ + is
P 3 o 3 , =

3 (D) s © 3 (8) 3 (4)

12. The fourth proportional w of X:)Y I VIW jg e W Bz aXIYinviw -12

vy $ Xy

. xyv REe c ol td A
L (D) " () v (8) uv ) (A)

13 SR FE v § 7ok T s
U= sz {D) u= vzk (C) U= w?'k (B) u= Vkl (A)

2x+1 2x+1 _14
14 GerDx—1) salan . -5 £ G De-1)
improper fraétion /.,.&.l: A~ (D) proper fraction / w2l (C) identity =L/ (B) equation =bLil—+ (A)

15. A set with no element is called _a‘-mfmgf $Fa er 15

empty set w» UG (D) superset &r ~ (C) singleton setqﬂf (B) subset .- C(? (A)
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Time: 2: 10 Hours Subjective (e & 2:10 =0y
Marks : 60 60 : A,
- 9 Ik ayrlutmbe e Lpnio o Silize o)
Note :- Sectlon I Is compulsory. Attempt any three questions from Section IT but g tion ber @ Is compulsory.
Section I ;J}i,a_-'
2. Write short answers to any Six parts : (6x2=12) G o gl -2
i. Solve by factorization. x* —11x=152 LS EF Pk i
ii. Solve by using quadratic formula, 6x*=3-7x=0 “ZS abla S L U G 35 -l
1 1
iii. If @8 are the roots e dd Jun Ll B Hmx+n=0 (#0) wuBa [
: 1 1 .
of the'equation X’ +mx+n=0 (I#0) then find the value of ?"'F .
iv. Evaluate o’ + 0 -5 g od Ly
v. Find the discriminant of 6x* —8x+3=0 -k i 3) el G 99 oV

bbbl a’, B Ju Jum il x* =3x+6=0 =il B,a S i
vi. If @, B are the roots of the equation x*—3x+6=0 form equation whose roots are at, p?
vii. Define inverse variation. g U~ F i
Viil.  Find a third proportional to a’-b*,a-b B 1 i
o u=12 Ggeb oI SV av=3 u=8. nuf F LY U A ix

ix. If “ and ¥ varies inverselyand ¥ =8 when v=3 . Find vV when u =12

3. Write short answers to any Six parts : (6x2=12) :i{fm&lﬂ/ﬂ&rlm{;—d{ -3
i. Define proper fraction with example. -2 U & PSS
o it X={1,4,7,9}, Y ={2,4,5,9} fing e XAY i XY 3Y={2,459}, X={1,47.9} 1
XouY and XY
iil. Define set with an example. L S s Ay Ser i
iv. Finda and b if (@-4,6-2)=(2,1 Siger 238 b ooa v
v. Write all the subsets of the set {ﬂ.b} & s Cf? 4% L{G,b} Y]
vi. Define arithmetic mean. & i St Qo i
vii. Find range from the given data 11500 , 12400, 15000, 14500, 14800 -ép‘" = eyt .’-.Cé_.- <vii
viil. Find Arithmetic mean 12,14 ,17,20.24, 29,35,45 ~ZEp o QLo - viil
ix. Define Mode. 2y Sk six
4 Write short answers to any six parts : (6x2=12) G2 7 a,_;i:’ -4
I. Convert —= into degree. -:-.£¢;(" LSS o <
il. Verify the identity. tan +cot & = sec 6 cos ecd ek S L
iii. Define Acute angle. EwS S el il
iv. Define sector of a circle. s S KL om v
v. Define chord of a circle. Seislr Yo 2 Saily oV
vi. Define arc of circle. ..z’:_g/'" SUd Sty v
vii. Define diameter of circle. S S B Lo i
viii, Define inscribed circle. “Zy S St i i
ix. Define polygon. -g....gﬁ S tueu 2 Lix
(Turn over)
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(UA 8 T Lz ) -4-Uil 9 AIrfgrcyrlcirde (s ......J

“~Note; Attempt any three questions. Each question carries’ Eight (8) marks but question number 9 is compuisory.
S.(a) Solve the given equation by completing square 11x* =34x+3=0 -éwdfg}-’-‘:gu.e .:.!:L»Jd; (a)-5

a p
R E’;gfl'u Pu:r;/?y P 2 +px+q=0 ..-.',I:Lfﬂ & N (b)
a B

®) If a , B are the roots of the equation X +px+qg=0 form equation whose roots are ﬂ a

6(a) Solve the equation by using componendo dividendo theorem  -ZX Y abheeJit £ oo S 5 7 - (3)-6

(x+5)° ~(x=3)° _ (x+5~(x-3' _13
(x+5) +(x=3)° 14 (x+5)P +(x=3)° 14
1
(b) Resolve into partial fractions (x=DI(x+1) S L Gz B

Au(BﬁC):(AuB)ﬁ(AuC)fggﬂbl;C={1,4,8} L B={2,4,6,8}, A4={1,2,3,4,5,6} 1 (a)-7

7@ 1t 4={1,2,3,4,5,6},B ={2,4,6,8} and C ={1,4,8} then prove the identity

AV(BAC)=(AUBYN(AW(C)

Lb) Calculate variance for the data 108,75 .12,8,6,8,2 -z—:(:"” ~.-<,."" K ol L}__'.i L (b)
8.(a) : : - . = i e . (a)-8
Find angle of elevation of the Sun if a 6 feet man - 2335 b BT dose L L (:l” 27 3l ¥ ur

casts a 3.5. feet shadow.
el ot nts e Rl QP b8 2 List $f » LOR PO s LUiLl (b)
(b) For an arc draw two perpendicular bisectors of the chords Fé and a}'i of this arc,
construct a circle through P .Q and R.
9. Prove that perpendicular from the centre of a circle on - £ s JJF FTes oy o’(;. }'}C. P f:—,{--f.t' -9
achord bisects it.
OR L
Prove that the opposite angles of any Lt dsl) SNl A L .a.;fg Ss iy L; PaY u’f é'.:-.b

quadrilateral inscribed in a circle are supplementary.
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